

## **ABC Bid Data**

## STATEWIDE GUARDRAIL REPAIR

42444

NON-FEDERAL

PROJECT: STATE PROJECT NUMBER:	STATEWIDE GUARDRAIL REPAIR 42444	Awarded To:							
FED. PROJECT NUMBER: DATE BIDS OPEN: SCOPE OF WORK: COMPLETION DATE: LOCATION:	NON-FEDERAL June 06, 2019, 2:00 Central and Eastern Turnpikes guardail/fence repair on as needed basis. June 30, 2021	Amount: Award Date:	\$0.00	Certified by: _	Director of Project Development				
Summary of Bidders									

Contractor	Bid Amount	Rank
CWS FENCE & GUARDRAIL CO	\$388,850.00	A
261 FRANKLIN HWY, ANDOVER NH 03216-3810		

				PS&E		CWS FENCE & GUARDRAIL CO 261 FRANKLIN HWY ANDOVER, NH 03216-3810			
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total

Items

606.0001	STEEL BEAM FOR BEAM GUARDRAIL, INCLUDING HARDWARE	LF	300.00	\$5.00	\$1,500.00	\$15.00	\$4,500.00	
606.0031	STEEL BEAM (THRIE BEAM) FOR BEAM GUARDRAIL, INCLUDING HARDWARE	LF	200.00	\$9.50	\$1,900.00	\$22.50	\$4,500.00	
606.120	BEAM GUARDRAIL (STANDARD SECTION) (STEEL POST)	LF	700.00	\$12.00	\$8,400.00	\$23.00	\$16,100.00	
606.1254	BEAM GUARDRAIL (TERMINAL UNIT TYPE EAGRT, TL 3) (STEEL POST)	U	38.00	\$1,800.00	\$68,400.00	\$3,500.00	\$133,000.00	
606.1255	BEAM GUARDRAIL (TERMINAL UNIT TYPE EAGRT, TL 2) (STEEL POST)	U	2.00	\$1,600.00	\$3,200.00	\$3,250.00	\$6,500.00	
606.127	BEAM GUARDRAIL (TERMINAL UNIT TYPE G-2) (STEEL POST)	U	2.00	\$365.00	\$730.00	\$950.00	\$1,900.00	
606.18001	31" W-BEAM GUARDRAIL WITH 8" OFFSET BLOCK (STEEL POST)	LF	1,000.00	\$12.00	\$12,000.00	\$23.00	\$23,000.00	
606.2120	DOUBLE-FACED BEAM GUARDRAIL (STANDARD SECTION) (STEEL POST)	LF	100.00	\$18.00	\$1,800.00	\$32.00	\$3,200.00	
606.21203	DOUBLE-FACED BEAM GUARDRAIL (THRIE BEAM) (STEEL POST)	LF	200.00	\$27.75	\$5,550.00	\$50.00	\$10,000.00	
606.28001	31" DOUBLE FACED W-BEAM GUARDRAIL WITH 8" OFFSET BLOCK (STEEL POST)	LF	100.00	\$18.00	\$1,800.00	\$32.00	\$3,200.00	
607.250	CHAIN LINK FENCE WITH ALUMINUM COATED STEEL FABRIC, 5' HIGH	LF	100.00	\$13.00	\$1,300.00	\$35.00	\$3,500.00	
607.4250	POST ASSEMBLIES FOR CHAIN LINK FENCE, 5' HIGH	EA	6.00	\$110.00	\$660.00	\$600.00	\$3,600.00	
607.51101	CEDAR FENCE (STOCKADE), 10' FOOT HIGH	LF	50.00	\$55.00	\$2,750.00	\$85.00	\$4,250.00	
670.042	GUARDRAIL INSTALLATION AND MAINTENANCE TRAINING	EA	2.00	\$500.00	\$1,000.00	\$3,500.00	\$7,000.00	
692.	MOBILIZATION	U	22.00	\$4,000.00	\$88,000.00	\$6,300.00	\$138,600.00	
1008.11	ALTERATIONS AND ADDITIONS AS NEEDED - UNANTICIPATED WORK	\$	20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00	
1008.82	ALTERATIONS & ADDITIONS AS NEEDED - WINTER WORK	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	
1010.15	FUEL ADJUSTMENT	\$	1,000.00	\$1.00	\$1,000.00	\$1.00	\$1,000.00	
	Totals:			\$224,990.00		\$388,850.00		
			Alt. Totals:					
			Totals:		\$224,990.00		\$388,850.00	



42444

NON-FEDERAL

				A-Bido	der	PS&		
ltem No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
Items								
606.0001	STEEL BEAM FOR BEAM GUARDRAIL, INCLUDING HARDWARE	LF	300.00	\$15.00	\$4,500.00	\$5.00	\$1,500.00	\$3,000.00
606.0031	STEEL BEAM (THRIE BEAM) FOR BEAM GUARDRAIL, INCLUDING HARDWARE	LF	200.00	\$22.50	\$4,500.00	\$9.50	\$1,900.00	\$2,600.00
606.120	BEAM GUARDRAIL (STANDARD SECTION) (STEEL POST)	LF	700.00	\$23.00	\$16,100.00	\$12.00	\$8,400.00	\$7,700.00
606.1254	BEAM GUARDRAIL (TERMINAL UNIT TYPE EAGRT, TL 3) (STEEL POST)	U	38.00	\$3,500.00	\$133,000.00	\$1,800.00	\$68,400.00	\$64,600.00
606.1255	BEAM GUARDRAIL (TERMINAL UNIT TYPE EAGRT, TL 2) (STEEL POST)	U	2.00	\$3,250.00	\$6,500.00	\$1,600.00	\$3,200.00	\$3,300.00
606.127	BEAM GUARDRAIL (TERMINAL UNIT TYPE G-2) (STEEL POST)	U	2.00	\$950.00	\$1,900.00	\$365.00	\$730.00	\$1,170.00
606.18001	31" W-BEAM GUARDRAIL WITH 8" OFFSET BLOCK (STEEL POST)	LF	1,000.00	\$23.00	\$23,000.00	\$12.00	\$12,000.00	\$11,000.00
606.2120	DOUBLE-FACED BEAM GUARDRAIL (STANDARD SECTION) (STEEL POST)	LF	100.00	\$32.00	\$3,200.00	\$18.00	\$1,800.00	\$1,400.00
606.21203	DOUBLE-FACED BEAM GUARDRAIL (THRIE BEAM) (STEEL POST)	LF	200.00	\$50.00	\$10,000.00	\$27.75	\$5,550.00	\$4,450.00
606.28001	31" DOUBLE FACED W-BEAM GUARDRAIL WITH 8" OFFSET BLOCK (STEEL POST)	LF	100.00	\$32.00	\$3,200.00	\$18.00	\$1,800.00	\$1,400.00
607.250	CHAIN LINK FENCE WITH ALUMINUM COATED STEEL FABRIC, 5' HIGH	LF	100.00	\$35.00	\$3,500.00	\$13.00	\$1,300.00	\$2,200.00
607.4250	POST ASSEMBLIES FOR CHAIN LINK FENCE, 5' HIGH	EA	6.00	\$600.00	\$3,600.00	\$110.00	\$660.00	\$2,940.00

607.51101	CEDAR FENCE (STOCKADE), 10' FOOT HIGH	LF	50.00	\$85.00	\$4,250.00	\$55.00	\$2,750.00	\$1,500.00
670.042	GUARDRAIL INSTALLATION AND MAINTENANCE TRAINING	EA	2.00	\$3,500.00	\$7,000.00	\$500.00	\$1,000.00	\$6,000.00
692.	MOBILIZATION	U	22.00	\$6,300.00	\$138,600.00	\$4,000.00	\$88,000.00	\$50,600.00
1008.11	ALTERATIONS AND ADDITIONS AS NEEDED - UNANTICIPATED WORK	\$	20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00	\$0.00
1008.82	ALTERATIONS & ADDITIONS AS NEEDED - WINTER WORK	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$0.00
1010.15	FUEL ADJUSTMENT	\$	1,000.00	\$1.00	\$1,000.00	\$1.00	\$1,000.00	\$0.00

Total:

\$388,850.00

\$163,860.00

\$224,990.00